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1. Στατιστική:   
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2. Τριγωνομετρία:    

ημ ( Α ± Β ) = ημΑ συνΒ ± συνΑ ημΒ ,     συν ( Α ± Β ) = συνΑ συνΒ ∓ ημΑ ημΒ     

2 ημα συνβ = ημ(α ― β ) + ημ( α + β ) ,  2 συνα συνβ = συν( α ― β ) + συν( α + β ) 

2 ημα ημβ = συν( α ― β ) ― συν( α + β ) ,   ημ2α = 2ημα συνα ,   συν2α = συν²α ― ημ²α  
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Λύση τριγωνομετρικών εξισώσεων: 

 Σε μοίρες Σε ακτίνια 

ημx = ημα  
x = 360˚κ + α                ή  

x = 360˚κ + 180˚―α,    κ ∈ Ζ 

x = 2κπ + α              ή 

x = 2κπ + π ― α,     κ ∈ Ζ 

συνx = συνα   x = 360˚κ ± α,    κ ∈ Ζ x = 2κπ ± α,   κ ∈ Ζ 

εφx = εφα   x = 180˚κ + α,    κ ∈ Ζ x = κπ + α,      κ ∈ Ζ 

 

3. Γεωμετρία: 

  
4. Α
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Ορθό Πρίσμα Επ = Πβ ∙ υ  V = Eβ ∙ υ 

Κανονική Πυραμίδα Επ = 
1
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Κύλινδρος Εκ = 2πRυ  V = πR²υ  

Κώνος Εκ = πRλ V = 
πR² ∙ υ 
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Κόλουρος Κώνος Εκ = π(R + ρ)λ V = 
π∙υ
3 ( )R² + R∙ρ + ρ²   



και  B(x2,y2): d = (x2 ― x1)² + ( y2 ― y1)²  

 

Απόσταση σημείου Σ(x1,y1)    από την ευθεία Ax + By + Γ = 0 : d = 
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5. Παράγωγοι: 
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6. Ολοκληρώματα: 
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7. Απλός τόκος: T = 
K∙E∙X
100   

 


